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sy S-S
M e
el 2EE HYHE (&te @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
= 4=} 465,618 0 465,618
PN 331,090 0 331,090
2EE ML H2 57,580 0 57,580
THater2 o M= 40,400 0 40,400
201 LEr2HH| 34,220 0 34,220
01 At22t2IH] 23,660 0 23,660
O1 2gta=2H| 23,660
DHIYSHE(RESMAR MM EX222)
4,000 603 * 122 2,880
DEIREE I £42 7002 *2002AH*122 1,680
D> 200 A M X =24 300,000 254 7,500
DRYX M2X3 &2  2,0002*1,5003] 3,000
DR M2EEAALH Ol22
330,000 * 122 3,960
DOHS2ENLR =2 4,000 8601 3,440
DEL,EH(2AMI,Z2IHDI)
300, 0002 x2CH x23| 1,200
02 222%H| 10,560 0 10,560
O3 A& EH S 10,560
DOHZ2ENL2 SXESH 550,000 <128 6,600
DESAZ(ESL, X)) SHIE2=H|
330,000 * 122 3,960
202 OfH] 6,180 0 6,180
01 2oy 6,180 0 6,180
OHEXMEAdR L3 0| 515,000 122 6,180
AEXHHST AX 17,180 0 17,180
201 LEt2HH| 14,000 0 14,000
01 AFRZt2lH] 2,480 0 2,480
O1 Ygta=2H| 2,480
>PDA 20122 40,0002 x 122 480
DA SHST 22/H(YXIAl XteFz=al)
200,000 *10CH 2,000
02 222%H| 11,520 0 11,520
O3 A& EH S 11,520
D> PDAS K| £ 2=H] 30,0002 *30CH *43] 3,600
DHSEAX XEMAIAE SX 24|
330,000 * 122 3,960
DRSUZFHMAIAE SKE 24|
330,000 * 122 3,960
202 04 3,180 0 3,180
01 2oy 3,180 0 3,180




PS!
=2
A2 HLHE (ol @ e
SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
ONSXUHHS XL 0Hl 265,000 +12& 3,180
NS 72,398 0 72,398
OIXt==2 S 4,100 0 4,100
201 et 4,100 0 4,100
01 AFR 22| 4,100 0 4,100
O1 Et==ZH| 2,000
DB AHE =2 2,000,000 =14 2,000
O3 28=¢ 2,100
DIIRSAARARS &G
70,0003 1021 x33] 2,100
M2l MgH 68,298 68,298
201 €Et23| 23,960 23,960
01 AbR22lH| 13,000 13,000
O1 get=ZH| 13,000
>Me=20XIA 60,0003 *808f A 4,800
DEYH, S8 (SAD|,ZEEHIl)
300,000& =3CH =33l 2,700
DMe+ MENESY =2
5,000,000,000& *0.1/100 5,000
DA HAABERE =2
100& *5,000H4 500
02 2223H| 10,960 10,960
O1 3322 ¢ MA 7,000
DHEDIN & SERS
2503 *7,00024 x4 3] 7,000
O3 A& ZHl ®Xdl 3,960
D A2t H A HRAIAE KX
330,000& = 12& 3,960
202 Oidl 14,010 14,010
01 =LHA b 14,010 14,010
ONA==SHEH =T =3 Y]
1,167,500& x12& 14,010
303 ZAa= 9,200 9,200
01 ZA3 9,200 9,200
ONM2=g MEHE+ 2N T4 6,200
D>E 800,000& x3I1 £ A 2,400
>R 700,000 201 2 A 1,400
> & 600,000 4 2 A 2,400
ONEE NA-LUMEN drZos
100,000, 0002 *3/100 3,000
403 X SHMSAH=01H 21,128 21,128
02 SI|2SOICHSHCHE At HI 21,128 21,128
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M e
el HISUSH (&te @2
_ _ P NE e
2AH -3 - SH2A(SH) - MEAMY - BHES 0] Ao Om;g; Hl =2
OHMIQIZ2AIAE ST EHH|
13,000,000 * 14! 13,000
OHMSIZAREFAALY NE3 FEAY 2
= 8,128,0002 * 14l 8,128
X125 AR ol & 2= 201,112 0 201,112
XAl HMehod =2 201,112 0 201,112
201 LEt2HH| 140,070 0 140,070
01 AFRZt2lH] 29,300 0 29,300
O1 Ygta=2H| 29,300
DHEDIN(Z2ER) 60,000 *300+ A 18,000
DEH,EAH(2AMI,Z2IHDI)
300, 0002 x7CH *33] 6,300
PENSLIE S Y2 (DSZED])
5,000,000 x1CH* 13| 5,000
02 Z22ZH| 110,770 0 110,770
O1 2222 2 HAl 110,770
DHEZAIRR 45,000 «4LH* 122 2,160
DEEZ BTN, AMEL2(RSE
X&) 1,500,000 *2CH 3,000
DPEEDNIAN REELLEZ 105,610
oF=pJ 1,750 3,000 5,250
OYLEIRH 2502 *400, 00024 100,000
OS)|IRHBrs 1,500 2001 *12& 360
202 OfH] 13,542 0 13,542
01 2o 13,542 0 13,542
OXZHZEE=HR48 04Hl 1,128,500 12 13,542
303 A= 37,000 0 37,000
01 ZTa2 37,000 0 37,000
OWHEST XAl M R Zaz
00,000,000 *2.5/100 15,000
OXIgAN a4 2308 ZAZ 17,000
>R 5,000,000 1S = 5,000
>R 3,000,000 x2S = 6,000
> =2 2,000,000 3 S = 6,000
OUEREZ HSTHAX| Ax=E TAZ
166,666,000 *30/100%10/100 5,000
405 KHAHE S 10,500 0 10,500
01 ML ESEFSH| 10,500 0 10,500
OBSEIRE RAHFES 5,000
> Cl XI & 3toil et 500,000 x 14! 500
D> T/ Cl 0fl O 4,000,000 14! 4,000
D> UliHI o1& 500,000 x4l 500
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Zy: Fape

Shl: X BAIH e E 4

SA BB CR(SH) - NRAY - A S Aol e =2
0 4 o
OXHEME ADEZE A2 AHAIAR X2
g 5,500
D> &l Al 2F 1,100,000& * 14! 1,100
> S8
4,400,000 =14 4,400
HY2AHH (H4=1) 134,528 134,528
oA (& 4=1t) 55,928 55,928
ol 2HH(&41t) 55,928 55,928
101 el4H| 55,928 55,928
01 2 55,928 55,928
OAzteZe22E 7,457 2521 x300A| 2+ 55,928
Jl2Z&Hl 78,600 78,600
Jl2Z | 78,600 78,600
201 LBt 3| 26,400 26,400
01 AtE22|Hl 24,300 24,300
O1 Lt 18,000
DEAZHE 1,500,000& x12& 18,000
O5 =&l 6,300
>Oof2t. & 7,000 #2501 +3 122 6,300
02 =234l 2,100 2,100
o1 23 2,100
DRER 1,7503 x10021 x 128 2,100
202 O4Hl 48,000 48,000
01 =LA bl 48,000 48,000
O Jl2g: =¢ 160,000 #2521 x 123 48,000
203 HRFLAH| 4,200 4,200
04 FN2ILRFAHI 4,200 4,200
O BEA2IHRF=EHI 350,000& <128 4,200




